? —f!r__ > ]_EE] % b it 3 B
* G| wEE # 5] FeEp Yy B 2k
s | 128Kkg j;{%; 20024 I B 6 ¢ 91.10.02 fir @ g
o6ke | yeme | 160ke 2y [2000% 5o £ 4 89.05.02 |p # « 1=
M4 | 28bkgl 2 &l ]2000# TR £ 4R F 89.05.02]p &+ x &
g | 134kg sz [2010E mvee g 99.11. 14 |* @A
62kg | sese | 170ke| 9252 |2000 ¢ m e s R 98.11.21 s ms
aqe | s0okg sz |o010s g ivims ¢ 99.11. 14 | * ®m@
yik | 138k 22 [ 2mt ez Eetimy 98.03. 11 [z v
69ke | s | 172ke Tz [« trnoesE R R EH B 97.06.08 |2 48+ (4 ¢)
e | 309kgd £z |t brmroes g ELEE 97.06.08 |24+ (4 ¢)
sk | 1a2kg =25 [100% 2mnsg B e s g 100.08. 25] B3
kg | #e | 180ke iz |100% 2 Mt 22 B Lsi R 100,03, 11 ]3¢
e | 315kg] repmis |00k 2mMEEE K EL R 90.03.02 |5 kg T 4
g | 157ke s [* & Rte00% £ R K £ 6B F 100. 05. 08] B2
sokg | ses | 1s9ke mriEsm [oas mpas 2 rpEsy 94.06. 18 | @31 ¥ o
iqe | 336ke] sriwd |2005% K 5@ g 94.11.01 |2
sk | 161ke] srirE 2009 2 B £ 47 98.11.26 [ m %
oakg | st | 201ke wrra |98 rmiEes g 98.10.27 | # » d% @
iie | 357kl srirs |2008% vk ¢4 3 97.04.30 |p » &%
#ig | 162kgl #iwE |2010# 2 F < & FLLHEF 99.07.04 |~ # -~ HEILF 4
105kg | e | 205kg] wriFE |98 2L E R LG BR 98.07.05 |4 487 4
wic | 365ke] g [2008% 4 g m iz wmr | 970531 My o
yog | 177k mLz [1002 rmiEe g 100. 10. 26] = t1
1105k | s | 22mkg] a4 foo11E e m s 100. 11, 13) ® = %
e | d0ike maz fo0102 e 2 m ey | 99.09.26 )2 2 5 % s
A A
PR 8Tkg| M ¥ % 2009+ LW R EH R F 98.05. 11 [* j&5.. Taldykorgan
a8kg | se | liske] My |8 rmpezmesny 98.03.10 |ms ¢
i | 200ked s 2000 5o £ 4 98.05. 11 |+ f &.. Taldykorgan
s | 9skg wars [2000% £k nEe g 89.09. 18 [ = &
53kg | e | 122kg iﬁ‘:@ 1999 % & £ 4 45 F 88.11.21 |# e
e | 215ke] wesa 1999 5 m g s 88.08.30 | = resis
yig | 100k thex [98% 2t Ez R EbR 98.03. 11 |m ¥
58kg | e | 128kg ﬁﬁ}z 924 2T § 92.10.20 | pzz £m?
e | 2o6ke ey [98 rmp sz REH IS 98.03. 11 |mp ¢
s | roskg AL fo1s 2w nzgesing 87.08.13 |53 - # M= 4 p
63ke | yem | 133kg] meess |2008Ernm e m Rz aEr |97.05.31 [mye o
e | 240ked sy 19992 ¢ 2 m s 88.11.23 |# "t
yog | Lieke ¥ fes [100% 2 mEe ¢ 100.10.25]- 1 7
69ke | s | 140ke ¥ f8x 20005z mpmg 3 mamrg  [89.06.15 [oa0 - mEan
e | 251kg] ¢ e |100% 2 Mg E s R 100. 08. 25 | m ¢
yi | liekg % e [062 2 Mz F e s 96.08.28 [ms ¢
kg | s | 143ke 3585 [000FzmRme 3 mampg  [89.06.15 [oa0 - mmn
wfe | 250kg vy g |oo00Ez e v memrg 89.06.15 |ia0 - mmamp
g | kg HEE s rmpszgeing 91.03.08 [& % iz s PRl
ke | gege | 1smel PEE losa 2 m- sz mesiey 88.07.16 |5 = ig % B
wfe | 270ke] Mk |88 2E- EREHESE 88.07.16 |7 =45k Bl

1001130 € #7




	社會100

